May 24t 2023
Dear Incoming 8" Grade Parents,

| have absolutely enjoyed getting to know some of your children in
homeroom this year and others around the halls. Often over the summer,
students forget the skills that they have learned in math the previous year. To
help avoid some of this and to continue practicing math skills, your student will be
given a math packet to complete this summer. The summer packet will be
focusing on integer operations and fraction operations. Calculators are not
allowed. Both concepts are essential for students to understand to be successful
in their 8" grade year in Math and on the HSPT. We will only briefly review these
concepts at the beginning of the school year. The summer work packet will be
due the first day of school.

If your student finds he or she is struggling with any of the concepts they
are more than welcome to email me at peloquin@saintantoninus.org. | will not be
checking my email daily in the months of June and July but will check it on a
weekly basis. Additionally, on the back of this letter, | have included a list of
resources your child may utilize. | hope you all have a wonderful and blessed
summer!

Sincerely,
Mrs. Meghan Peloquin
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ADDIT ION ‘SUBTRACTION MULTIPLICATION DIVISION
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When  adding  decimals, When subtracting Treatbthe :ﬁmberslg}(? wgoie We can’t divide by a decnmal
: : numbers, then multiply. Once you convert it t hol
ALWAYS line up your decimal decxmalsf ALWA}’S lineup | o an answer count how many nurrlnseri it ﬁel Véf:pz cesyou
D points, use place holders if | your decimal points. numbers are to the RIGHT of the oved t'he pbician
E necessary Add, then drop the | Subtract, then drop the decimal point and put that many divisor is *He <ame amount
i i i bers to the RIGHT of the decimal v
c decimal point straight down. decimal point straight :xt ‘enr Sthz éniwer. orthe decima you should move it in the
. : down. _ Example: 8.8x 7.42 | dividend, use place holders if
: | Example: 4.05+2.2= . o necessary. Then divide like
M . | Example: 16.21~3.015 usual,
A 4.05 : ~ ' 7.42 0sis
L +2.20 : % 8.8 275156 , =215 5550
S 6.25 ~16.210 65.296 =
- 3.015 A1
I T G
13.195
. The answeris 14
Find the least common Find the least common Multiply straight across. Change the SECOND
. : denominator of all fractions, fracti ONLY to i
F denominator of all convert, then subtract raction to its
R - | fractions, convert, then- numerators. Borrow or change reciprocal, THEN you
{o impropers if necessary. Keep - &
A add numerators Keep the the denominator or changetoa 33 g { may mUItlp‘y Stralght
c denominator or change o - | mixed number if necessary. & across.
T 2 mixed number if’ % %
| |necessary. - 4 3%_', iz : e . L
' . i3 e . F & ) A0y
Nl EeF giioqr | £678 V808 | b
s | & ¢ N { 9,10 _90
. A4 E =25 _4 _ T, -
%8 TE IR o5 - 42 =1} 13 7 @
Same signs add and keep Change difficult For any two integers, SAME | For any two integers,
“their sign, different signs subtraction problems to signs equal a posmve SAME signs equal a
subtract and keep the sign | addition by adding the answer, - ' positive answer,
of the greater absolute opposite and then DIFFERENT signs equal a DIFFERENT signs equal
value. - : follow the rules for negative answer. a negative answer.
: : adding integers. S . ’
2+3=5 - 54+6=1 |-4-9=-4+(-9)=-13 6(8) = 48 50/5=10
' ‘ E -6(-8) =48 } -50/-5 = 10
g (3) =5 - - kI 13 =2 3= (27) =T ) =10 T e EE R B R
‘ -4(5) =-20 -60/12 =-5
4(-5) = -20 60/-12 = -




R

o

5

SR e

©:PeterWisej2014

~"NO BETWEEN NUMBERS!
(NO FRACTIONS OB NUMBERS
TO THE RIGHT OF THE
DECIMAL POINT)

f - POSITIVE NUMBERS

f~ ARE USUALLY.NOT WRITTEN

. WITH A POSITIVE SIEGN
(+z, ETC.)! :

SAME NUMBER, JUST
PUT ON A NEGATIVE

\ SI&N...THE OPPOSITE OF
—_POSITIVE 1S MINUS!

" THE OPPOSITE OF A

NEGATIVE IS A POSITIVE,
SO JUST TAKE OFF
" THE SI&N!

] e e I B
-10-9 -8-7 -6 -5 -4-3 -2 -1 g 1 2 345 67 8 910

This one is done for you




Any time you subtract, this is the
same as adding a negative number

SAME AS
PLUS A
_NEGATIVE!!

IMINUS! 1S THE

e

=

EVERY TIME You
SUBTRACT, IT'S THE
SAME AS ADDING A
\NEGATIVE NUMBER!

iR

TRt

4

1 10-3 —

(Right how just focus on rewriting,
rather than solving the problem)

19-11 —

-30-5 —

—>
X-y —
<« ,
S
s
= BACKWARDS:
ﬁ Now write as a subtraction problem
© \
2., {__1_
3 2
2
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L2~ aRre NEGATIVE-SO THE

» DD THE NUMBERS

IF ALL THE NUMBERS

~"2 NEGATIVE ONES +
& NEGATIVE ONES =

HOW MANY
NEGATIVE ONES?

Nggp/ - | » ADD THE SI&N!

" TralLTHE
NUMBERS HAVE THE SAME
SIGN, JUST &IVE YOUR <
'ANSWER THE SAME SIGN
AND ADD UP ALL THE
~ NuMBERS!

ON A NEGATIVE SIGN!

FRoiey

JUST ADD UP THE
NUMBERS AS THOUGH THEY <

BE NEGATNE’

~BOTH INTEGERS™

~ ANSWER WILL BE

“SINCE BOTH NUMERS ARE -
"NEGATIVE, YOUR ANSWER WILL )

ARE POSITIVE, AND MAKE YOUR
" ANSWER NEGATIVE .
AT THE END!

X

0+ & cOES HEEE ~
OU KNOW THAT THE ANSWER
15 NEGATIVE BECAUSE

EVERYTHING YOU ARE ADDING
: IS NecATVE! -

~TF YOU TAKE AWAY 5 (~5)
AND YOU TAKE AWAY 2 (-2)
HOW MANY DID YOU REALLY -

TAKE AWAYZ

11
+ .

1+ (-1) +(-1)

A~ THIS TIME BOTH -
NUMBERS ARE POSITIVE, -

S0 THE ANSWER WILL BE

posiTive!

2 +(-2)+(-2)

7-2-3

-7 (-7),:
<7 - Bl=

THIS IS REALLY THE
SAME AS SUBTRACTING
15 IN TwWO STAGES

4-8+(-2)

" ARE NEGATWE, JUST ADD UP
ALL OF THE NUMBERS AND PUT

With same signs you
always BDD the numhers
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(You don't normally put a positive sign on positive numbers. We assume that if

R

i
)

If integers have the same sign (either positive or negative) you ALWAYS
ADD them. After you have added them, just make sure you PUT ON A
NEGATIVE sign if the numbers you added are NEGATIVE.

a humber has no sign, it's positive.)

R

Bdd negatives fogether like they're Dositive; then put on a negiative sigh

' Both numbers /\
v "'

are hegative

Putonthe __, Add them like
-3-3= hegative sign: L] They're positive

Smaller negatives when added equal a larger negative

© Peter Wise, 2014

IF YOU TAKE
AWAY 4 TWICE
\ YOU GET THISL,

- =TF YOU ADD 4"
4 + 4 - . TWICE YOu
GET THIS!

S s Wy e ool e P L ey T

l

-4 + (-10)

i

T
gﬁ%ﬁ (+7) + (+8) =

<STAKE AWAY
ONE MORE
THAN 51

LB

(-5) + (-1)

(5)+(5) =

" SAME A5 2
_TIMES (-5)!

s

Il‘—‘ﬂ“

s R R
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THE NUMBER WITH
THE NEGATIVE SIEN 13
GREATER THAN THE NUMBER - N
THAT IS POSITVE! -/ Make both

numbers positive (subtract)

1210 |2

Find the difference

Find the sign of the
higher number; give
your answer this sign

ADDITION RULE FOR OPPOSITE SIGN INTEGERS:

PERETEND THEY'RE POSITIVE... SUBTEBALT..--
Make both Find the difference
humbers positive (subtract)

6+ (-7)

AFTER YOU MAKE
BOTH NUMBERS POSITIVE, SUBTRACT
THE SMALLER NUMBER FROM THE

__LARGER NUMBER!

Make both Find the difference

numbers positive (subtract)
%Qﬁ . -8+5H

Make both Find the difference

numbers positive (subtract)
-10 + 4

Make both Find the difference
numbers positive (subtract)

Make both Find the difference
numbers positive (subtract)

-6+ 17

Find the sign of the
higher number; give
your answer this sign

Find the sigh of the
higher number; give
your answer this sign

Find the sign of the
higher number; give
your answer this sign

Find the sign of the
higher number; give
your answer this sign

Find the sign of the
higher nhumber; give
your answer this sign

ADD THE WINNING SIEN!

Answer:

Answer:

Answen:

Answer:

Answer:




6+ (-9)

PEETEND THEY'RE POSITIVE... SUBTRACT.-- ADD THE WINNING SIEN!

Make both
numbers positive

Make both
numbers positive

Make both
nutmbers positive

Make both
numbers positive

Make bath
numbers positive

Make both
numbers positive

Find the difference
(subtract)

Find the difference
(subtract)

Find the difference
(subtract)

Find the difference
(subtract)

Find the difference
(subtract)

Find the difference
(subtract)

Find the sign of the
higher number; give
your answer this sign

Find the sign of the
higher number; give
your answer this sign

Find the sign of the
higher number; give
your answer this sign

Find the sigh of the
higher number; give
your answer this sign

Find the sign of the
higher number; give
your answer this sign

Find the sign of the
higher number; give
your answer this sign

ADDITION RULE FOR OPPOSITE ’SléNiNTEéEES:

Answenr:

Answer:

Answer:

Answer:

Answenr:

Answer:

i3
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H+ 2

(-9) + 10

12 + (-20)

Make both
numbers positive

Make both
numbers positive

Make both
numbers positive

Make both
numbers positive

Make both
numbers positive

r
t

Make both
numbers positive

Find the difference
(subtract)

Find the difference
(subtract)

Find the difference
(subtract)

Find the differénce
(subtract)

" Find the difference

(subtract)

Find the difference
{subtract)

Find the sigh of the
higher number; give
your answer this sign

Answer:

Find the sign of the
higher number; give
your answer this sign

Answer:

Find the sign of the
higher number; give
your answer this sign

Answer:

Find the sign of the
higher number; give
your answer this sign

Answer:

Find the sign of the
higher number; give
your answer this sign

Answer:

Find the sign of the
higher number; give
your answer this sign

Answer:
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2. GoUP2
3. Go DOWN 3

NEGATIVE GOES

o |
= g

= START AT up 2 DOWN! ,
i Zgro! -3 —

down -3 -g

-6

-7

1, Startat O -8

Hegatives go

3+(-4) 2 1120 -3+(-3)
A - \ . A LS h-6
T I s G)Sglf’f‘t’f L g
T T 7 T 7
—de 6 o e
T s 75 QGodun T3 Q)f*g*
T T3 @h{qo T: Beo
T Lot N up 8 T4 downd
~T3 0O a 12 T3] ®Go
13 kot T3 13| doe
1 172z 10 Il
+ 7 + 7 T 7
-+ -8 -+ -8 + -8

«

(THIS 1S WHY YOU
SUBTRACT THESE
INTEGERS!

NOTICE!
THE ABRROWS GO IN OFPPOSITE
DIRECTIONS WHENEVER YOU HAVE ONE
POSITIVE AND ONE NEGATIVE INTEGER!
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Hegative touching negative turas o PLUS e
TH‘NK OF APLUS
SIEGN AS TWO

NEGATIVE SIGNS
PUT TOGETHER!

3-(-2)=5  — touching ~— = =

negative negative  onhe negative

sigh sign sigh rotated

- and joined to
the otherl

m(_8)=4:

8-4=

17 -(-4)

- (-11) -3 =

i

15 - (-6) =

Bl

2-(-7)=

- (-5)- (-3)=

-6 - (=7) =

-5-(-B) =

12 - (-10) =

prad
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ODD number of hegative sighs m’rheproblem NE@-ATI\/E ANSWER
EVEN number of negative signs in the problem: POSITIVE ANSWER

2 neg's cancel out .

BEBECAUSE EVERY
TWO NEGATIVES

CANCEL EACH
§ ‘L ‘L OTHER oUuT!
£| = -6 B 3.4 =12
I ) .
>
- ODD number of EVEN number of

hegative signs in gﬁgﬁgéa hegafive signs in Zﬁgggs
the problem: : the problem: B

EVEN/ ODD POS / NEG answer EVEN/ ODD POS / NEG answer
number of negative (circle one) number of negative

signs in the problem signs in the problem

(circle one) .

i i (6)-6)-

EVEN / ODD POS / NEG answer EVEN/ ODD POS / NEG answer
number of negative number of negative
signs in the problem signs in the problem

WHEN NUMBERS
TOUCH, THEY TIMES!

B (-)(-1)(-D) - L (D2)-6)

&
EVEN / ODD POS / NEG answer EVEN / ODD POS / NEG answer
number of negative ‘ number of negative
sighs in the problem signs in the probletm

| NEVEVENEIE - NISNENEIE

xf

EVEN / ODD POS / NEE answer EVEN / ODD POS / NEG answer
number of negative humber of negative
signs in the problem : signs in the problem

37




EVEN / ODD
number of negative
sighs in the problem

EVEN/ ODD
F number of negative
¥ signs in the problem

T v
e et et

EVEN/ ODD
number of negative
signs in the problem

SRR

ESTI

- EVEN / ODD
number of negative
3 signs in the problem

EVEN / ODD

number of negative
sighs in the problem

=]
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(-1)(-3)(-7) =

-11--b =

' POS / NEG answer

POS / NEG answer

POS / NEG answer

POS / NEG answer

POS / NEG answer

GCancel ouf every two negatives, if none are left, the answer is posiive

. ISOEE

(-2)(-3)(-5) =

-12 - -2=

(-7F -

(-3)(-3)(-3) =

multiply the numerators

39



EVEN number of hegative signs in the problem:

ODD number of negative signs in the problem:

&
5 -10+-2(=-b
1]
2 @) b
DB number of Fyiz e ativE
hegative signs in| aANSWER

the problem:

POSITIVE ANSWER
NEGATIVE ANSWER

2 neg's cancel out

Voo

TWO NEGATIVES: Y
CANCEL EACH
OTHER OUT!

EVEN number of COBITIVE
hegative signs in
the problem: ANSWER

EVEN / ODD POS / NEG answer
number of negative
signs in the problem

9+ (3) =

EVEN / ObD POS / NEG answer
number of negative
signs ih the problem

EVEN/ ODD POS / NEG answer
number of negative
signs in the problem

i

SR -.»{,,\j,:

-32+(-8) =

EVEN / ODD POS / NEG answer
number of negative
signs in the problem

e

=

. BIEEE

Liieanass
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EVEN / ODD POS / NEG answer
number of negative
signs in the problem

-5 - (-—1) = gif
0
42 + (-6) =
-36 + -9 =
-24 + (-2) =
¥
48 +(-6) = g
o




15+ (-3) =

“WHEN THEY TOUCH
THEY TIMES!

15 +(-3) =

-7)(-7) =

64 +(-8)=

6+ (-3) =

(-2)(-3)(-4)

47



Facts to Know (cont.)

Raising a Fraction to Higher Terms

When adding or subtracting fractions, sometimes it’s necessary to raise fractions to higher terms. This
is the opposite of reducing. To raise a fraction to higher terms, multiply both the numerator and the

denominator of the fraction by the same number.

Sample: Raise 3 t0 20ths.

4
Step 1 — Divide the old denominator into the new 20 _ 29 +4=5
denominator. 4
3x5 15
Step 2 — Multiply both the numerator and 4x5720
denominator of the original fraction by 5. 15 _15~5_3
Step 3 — Check by reducing the new fraction. 20 20+5 4

The reduced answer should be the
original fraction.

Adding Fractions with the Same Denominator
When the sum of an addition problem is an improper fraction, change the sum to a whole number or a
mixed number.

484349
Sample.49+39—. |
Step 1 — Add the numerators of the fractions when the denominators are the same. 8 +4 =12

Step 2 —» Write the total over the denominator. %

Step 3 —> Add the whole numbers. 4 +3 =7

Step 4 —> Change the improper fraction to a mixed number. 192- =1 —g-
Step 5 — Add the mixed number to the total of the whole numbers. 7 + 1 % =8 %

Remember, always reduce. 8§ % =8 %
Adding Fractions with Different Denominators
When adding fractions with different denominators, find a common denominator.

A common denominator is one that can be divided evenly by all the denominators in the problem.
The smallest number that can be divided evenly by the other denominators is the least common
denominator, finding it saves steps in reducing, :

Sample: What is L hound of nuts and 3 pound of nuts added together?
2P 4

Step 1 —> Find a common denominator. % = 212_'
Step 2 —> The lowest number that can be divided evenly 3 3
by both denominators 2 and 4 is 4. + 44
ise
Step 3 —> Raise 5 to 4ths. Zsi ~1 % pounds of nuts

Step 4 —» Add the fractions with the least common
denominator and change the total to a mixed number,

© Teacher Created Resources, Inc. 7 #2956 How to Work with Fractions, Decimals. . .




Directions:

1
4
2
5

iy

11

Directions:

11. 1

KT

12. 13 =

U1|

Directions:

i LA Bhed-ofs e@@ eee Basic rgcﬁg@ﬁ @ﬂ@gpi

Change the improper fractions to mixed numbers. Remember to reduce to lowest terms.

3.%: 5. %: 7.1_7?= 9.%:

4. 8= 6. = 3. 22 10. 40 =
Change the mixed number to an improper fraction.

13.2%: 15.3%: 17. 52 = 19. 5 4=

14.2%.—. 16.4%-: 18. 11%: 20. 4.1.5.2_.—_
Reduce the fraction to lowest terms.

23. 2= 25.%: 27. %égz 29, 2=

24.%: 26. é% 28, -é%: | 30. 4L =

1,2, 1,4 2,6 5,7,
39'Z+Z— 41.1 T = 43 gte= 45 lgfg“

3.2_ 6.4_ 3.5 L, 44_
40.7+7— 42.3+3~ 44.24+4- 46, 23+43
Directions: Add the fractions. Remember to find a common denominator and then reduce to lowest
terms. .

5,3_ 5 11 1 7
47.—g+z—- 50. 68+724 53.86-1 324

4 9 _ 2 l 3_ 6 _
48.-7—+—2-g- 51. 3 12 7 54. Sf,5 97

5,11 _ 3,1,7 _ 13,4,1_
49, 'g -3'"-— ) 52. 5+2+ 10-—- 55. 20+5+4

#2956 How to Work with Fractions, Decimals. . . 8
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sulbtract Fractions

Subtracting Fractions with the Same Denominators

When fractions have the same denominators, subtract the numerators only and place the total over the
denominator. '
3

2 of a pound into the bird

Sample: From a bag that contained %pound of birdseed, Margery poured
feeder. How much birdseed is left?

Step 1 — Subtract the numerators. 7-3=4
Step 2 —> Write the answer over the denominator. g—
Step 3 — Reduce the final answer. % pound = % pound

More on Finding Common Denominators

Sometimes you must change more than one denominator to add or subtract. For example, how would
you solve this problem:

A S
Sample: 5=3= "

These fractions have different denominators. You cannot subtract them, nor can only one
denominator be changed because 2 won’t divide into 3 evenly, and 3 won’t divide into 2 evenly.
Therefore, you must find a common denominator, a number that both 2 and 3 will divide into evenly.

There are three methods for finding a common denominator.

Method 1— Check the largest denominator in the problem to find out whether it can be divided evenly
by the other denominator(s) in the problem.

Sample: %——%:? %j%
6 can be evenly divided by 3, so there’s no need to look for another number. "6_ 6
Method 2—Multiply the denominators together to find a common denominator, . %
Samplgz: %— %— =7?
Step 1 — Multiply the denominators. The number 12 3_9
is the common denominator. 4 12
Step 2 —»- Raise each fraction to 12ths. - 2"3 = ]—8"2
Step 3 —» Subtract the new fractions. .il.z.
Method 3—Go through the multiplication table of the largest denominator.
Sample: —95- — %— =7?

Step 1 — Go through the multiplication table of the largest
denominator, 9.

1l

I
5ol ~x [53|ws Gl

I

N = \Dln

9 x 1 = 9 which cannot be divided evenly by 6.
9 x 2 = 18 which can be divided evenly by 6 and 9.
Step 2 —» Raise each fraction to 18ths.

Step 3 —> Subtract the new fractions.

© Teacher Created Resources, Inc. 9 ' #2956 How to Work with Fractions, Decimals. . .
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Facts to Know (cont.)

Subtracting Fractions with Different Denominators
When subtracting fractions with different denominators, find a common denominator.

Sample: Lupe walks % mile to the train. She stops for coffee at Tom’s restaurant, which is % mile to
the train. How much further does she have to walk after Tom’s?
You’ll have to subtract—g— from %, but they don’t have common denominators. -~
Step 1 —> Find the least common denominator. The numbers 2 and 8 1_4
both evenly divisible by 8. 28
1. _3.3
Step 2 —> Raise 5 to eighths. 3-8
Step 3 —> Subtract the fractions using the least common denominator. - 1 ile
8

Subtracting Fractions from a Whole Number

When subtracting fractions from the whole number 1, you must change the number 1 to a fraction with
the same numerator and denominator as the denominator in the fraction.

Sample: Ian took one cup of sugar from a bag. He only used i cup to make ice tea.
How much sugar is left?
Sfep 1 —» Change 1 to a fraction, using the same number for the 1= _?I
~ numerator and denominator as the denominator of the 3 3
original fraction (1 cup = 4 cup). 4”4
4 1
Step 2 —> Subtract the fractions. . g P left
Wher subtracting a fraction from a whole number larger than 1, you must regroup. .
Sample: 3 - % =
Step 1 —> Regroup by changing 3 to 2 —2— 3=2 %
(Remeber, 1 = —g.) _3_ 3
Step 2 —» Subtract. "‘8‘—“—8‘5
22
8
Subitracting Mixed Numbers
You can subtract mixed numbers provided the fractions have the same denominators.
4l 13 |
Sample.43 14- . )
i ; 1_442 4 .12 _ 16
Step 1 —> Find the lowest common dgenonnna;or. 4 g 4 13 = 3= 75 = 3 v
-12=1-2 = 3 _ 9
Step 2 — Since you canlgsubtract 12 from = 15 1 7} 112 = -1 3 = -1 o
regroup 1 as =5 from the 4. Add it to 4
12 127 5 1
12

Step 3 —> Subtract the fractions. Then subtract the whole numbers.

#2956 How to Work with Fractions, Decimals. . . 10 © Teacher Created Resources, Inc.
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. Keys to Subtracting Fractions
o |f the denominators in the fractions are not alike, find the lowest common
denominator.

* Regroup if a minuend (the number you subtract from) is a whole number or the
fraction in a minuend is smaller than the fraction in a subtrahend (the number being
subtracted).

e Subtract the fractions first and then subtract the whole numbers.

Directions: Subtract the mixed numbers. Remember, reduce to the lowest term.

7 : | 2

1.. 9—8— 7. 6 | 13. 49
5 7 1

—6% ~219 —13
9 51

2 1510 8 9 14. 1.,4
a1 3 25
15 23 3%

19 S

3 14—22 9, 7 15 2012
5 ~ 4 2
-874 —317 —23
5 4 2

4 115 10 81—3~ 16 143
1 5 8

-3¢ —633 —65

7 1 1

5 6—8— I1. 6Z 17. 183
3 1 1

-3% -33 )

3 3

6 5 12. 105 18. 13§
4 3 _5.L

—17 —8% 10

|
|

#2956 How to Work with Fractions, Decimals. . . 12 © Teacher Created Resources, Inc.
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Directions: Subtract the fraction from the whole number.
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Fraction Word Problems

Mary needs to order pizza for 18 students. Each student should get % of a pizza.
How many pizzas should Mary order? How much pizza will be left over?

Two friends want to share 3 apples so that they each get the same amount. How
much would each friend get?

“Jared has one pizza that has 12 slices. He wants to share his pizza with his two
brothers. How many slices will each boy have if they each have an equal amount?

Frank has 3 bags of birdseed. He wants to put the birdseed into 4 bird feeders
equally. How much of the bags will go in each feeder

Two children are sharing % of a sandwich. How much will each child get?

Ciara is making a new dance outfit. She needs 2 % yards of fabric for the shawl.
She needs 1% yards of fabric for the dress. If she has 3 yards of fabric, how much
more does she need? If each yard of fabric costs $7.98, how much money does
Ciara need?




Mario was making cookies. He mixed 2 % cups of flour, 1% cups of sugar and %
cup of brown sugar together in a bowl. How many cups did he have altogether?

‘Becky has 5 candy bars. She wants to share them with 3 friends. How much will
each friend get?

Multi-Step Problems

Kim had 4 chocolate chip cookies and 3 sugar cookies. Kim’'s sister ate two of her
chocolate chip cookies. How many cookies are left?

Becky gets $5.00 a week for chores, and helps with chores for 4 weeks. If Becky
wants to spend only half of her money, how much will she have left to save?

Becky has 4 quarters. Becky’s mom gives her 3 more. Becky spends 2 of them on
candy. How many quarters does Becky have left?

Travis has 13 pieces of gum that he wants to share with his 2 friends. If Travis and
his friends split the gum equally, how many pieces will they each get?



STORY PROBLEMS WITH INTEGERS

Read carefully and solve.

1. When Steve woke up. His temperature was 102° F. Two hours later it
was 3° lower. What was his temperature then?

2. An elevator is on the twentieth floor. It goes down 11 floors and then up
5 floors. What floor is the elevator on now?

3. A deep-sea exploring ship is pulling up a diver at the rate of 25 feet per
minute. The diver is 200 feet below sea level. How deep was the diver
10 minutes ago?

4. If it is 5° outside and the temperature will drop 17° in the next six hours,
how cold will it get?

5. Josie has $47 left on her checking account. If she writes a check for $55,
what will Josie’s balance be?




. Joe is playing a game with a regular die. If the number that turns up is
even, he will gain 5 times the number that comes up. If it is odd, he will
lose 10 times the number that comes up. He tosses a 3. Express the

_results as an integer.

. It will be — 12° tonight. The weatherman predicts it will be 25° warmer
by noon tomorrow. What will the temperature be by noon tomorrow?

. The average temperature at the South Pole is —45° F. The average
temperature on the Equator is 92° F. How much warmer is the average
temperature on the Equator than at the South Pole?

. Felix reported that the coldest day on record for his town was five times
colder than yesterday’s temperature, —4° C. What was the temperature of
the coldest day on record in Felix’s town?

'10. The elevation of Mt. Everest is 29,028 feet. The elevation of the Dead

Sea is —485 feet. What is the difference in the elevation between Mt.
Everest and the Dead Sea?



